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Up until the end of 2017, “Dynamics” review problems were available online on the website for the book: Beer
and Johnston, Vector Mechanics for Engineers, Statics and Dynamics, Ninth Edition, 2010, at:
http://highered.mcgraw-hill.com/sites/0073529400/information_center_view0/ . These review problems went “Out
of Print” at the end of 2017. However, before the problems went out of print, | downloaded and collected them in
this “problems.pdf” file.

This file contains, in Part 1 below, all the online review problems and online solutions that | downloaded from the
Beer and Johnston, Statics/Dynamics Website, from Chapters 11 through 17, and Chapter 19. We don’t cover
the topic of Chapter 18, “Kinetics of Rigid Bodies in 3D,” in the FE exam review class. In Part 1, | list all the
problems identified by consecutive numbers in a manner similar to that used for problems in the textbook, namely,
chapter number followed by a sequence number, or XX.X. The chapters and topics are listed below:

Chpt. 11: Kinematics of Particles

Chpt. 12: Kinetics of Particles: Newton's Second Law

Chpt. 13: Kinetics of Particles: Energy and Momentum Methods

Chpt. 14: Systems of Particles

Chpt. 15: Kinematics of Rigid Bodies

Chpt. 16: Plane Motion of Rigid Bodies: Forces and Accelerations

Chpt. 17: Plane Motion of Rigid Bodies: Energy and Momentum Methods
Chpt. 19: Mechanical Vibrations

As | mentioned in the FE exam review class, several of the review problems that | downloaded from the Beer and
Johnston, Statics/Dynamics Website, have errors in their statements, solutions, and/or multiple-choice answers.
Some of the mistakes in the solutions are quite serious because they involve the application of wrong physical
principles. | list the errors and corrections in Part 2 of this file. The errors and corrections are listed according to
the problem numbering scheme followed in Part 1.
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“FE Exam Review”
Online Problems and Solutions



Problem 11.1



Problem 11.2



Problem 11.3



Problem 11.4



Problem 11.5



Problem 11.6



Problem 12.1



Problem 12.2



Problem 12.3



Problem 12.4



Problem 12.5



Problem 12.6



Problem 12.7



Problem 13.1



Problem 13.2



Problem 13.3



Problem 13.4



Problem 13.5



Problem 13.6



Problem 13.7



Problem 14.1



Problem 14.2



Problem 14.3



Problem 14.4



Problem 14.5



Problem 14.6



Problem 15.1



Problem 15.2



Problem 15.3



Problem 15.4



Problem 15.5



Problem 15.6



Problem 16.1



Problem 16.2



Problem 16.3



Problem 16.4



Problem 16.5



Problem 16.6



Problem 17.1



Problem 17.2



Problem 17.3



Problem 17.4



Problem 17.5



Problem 17.6



Problem 19.1



Problem 19.2



Problem 19.3



Problem 19.4



Problem 19.5



Problem 19.6



Part 2

Errors and Corrections



Problem 11.1
“counterclockwise” should read “clockwise”
“clockwise” should read “counterclockwise”
Problem 11.5

The correct solution gives the answer, —500i —100j, m/s2. This answer is not shown among the multiple
choices.

Problem 12.3
The correct solution gives the answer of (d), not (a).
Problem 13.1

This problem should be moved to Chapter 17! The correct solution gives the answer, 4.37 m/s. This
answer is not shown among the multiple choices.

Problem 13.2

The correct solution gives the answer, -16.67 m/s. This answer is not shown among the multiple
choices.

Problem 13.3

The correct answer is (c), not (d). The solution is correct!

Problem 13.5

The correct solution gives the answer, 136 kN. This answer is not shown among the multiple choices.
Problem 13.6

The value for k in the figure should read “0.1 kN/mm”, instead of “1 kN/mm”. If the effect of gravity is
included, then the solution gives the answer, 1.902 m/s.

Problem 14.2
The blue ball is not at rest following the collision!
Problem 14.4

The correct solution gives the answer, 0.815 m. This answer is not shown among the multiple choices.
Also, the blue ball is not at rest following the collision!

Problem 14.5

The dimension “1.414D” in the figure should read “0.707D”.



Problem 14.6

The correct solution gives the answer, 0.425 N. This answer is not shown among the multiple choices.
Problem 15.1

Answer (d) is correct as calculated, not (c).

Problem 15.6

The correct solution gives the answer, —4i —1.25j, m/s2. This answer is not shown among the multiple
choices.

Problem 16.2

The mass of the flywheel is not given. The flywheel has a 20-kg mass, and has the shape of a uniform
disk.

Problem 17.3

The correct solution gives the answer, 0.0420 rad/s. This answer is not shown among the multiple
choices.

Problem 17.4

The correct solution gives the answer, 16,379 m/s. This answer is not shown among the multiple
choices. However, the answer is physically unrealistic, implying that the specified angle of 30" is much
too large!

Problem 17.5

All the numbers and units of the multiple-choice answers are wrong! The correct solution gives the
answer, 4.87 rad/s.

Problem 19.5
The solution gives the answer, 0.346 m/s. This answer is not shown among the multiple choices.
Problem 19.6

The solution, continued from Problem19.5 above, gives the answer, 4 m/s2. This answer is not shown
among the multiple choices.



